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y = r sin 0
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x =  rcose  = 2~0s  -r
i 1

=2cos2n  =.L=  -1
t 1

y = rsine = 2sin(-Zf)  = (2)(-dj  = 'it3
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G-ql-v&==L=J  = 1

d&F-x = 1

J2x 4-y= = x+1

x=+y= = x1+2x+1
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1 . rcose =  3 3 . rcose = - 3

2 . r sin e = 3 4 . r sin e = - 3
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r =  2asinB  PilTOr  =  - 2 a s i n 0

94 0

am1 o-lfl  (3.7)

a* = b’+r*-2br  cos(Q-p)

LLVlod~l  aUi$ a = 2, b = 5, B = ~7

4 = 25+r*-  10r cos(B-rr)
r’+lOr cos 8+21 = 0

ke
r = 1-ecos8 . . . . . . . . . . (3.12)
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r = I-sine

mJfl15w151'6¶JiTl1 ;o r 4=
1 -sin 0

hmn%G mJfll5Y~~~fl~~fld  "no y = -4 I

14.
3s)
2

r sin 19 = - 4

h%m%mn1s  r = ke
1 -e cos e
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q& 3.25
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23. r = 6
I- 2 cos 0
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